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FRERE, BREOKRKE OMETR LEOEEELTE
72 O B FRERE NEEONETEOHEEL T
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w oA 5 (M) T = i # (M) HERMAENE (M)
LRk A4E 102,078,360 94,517,000 (A) 7,561,360
EH &% 103,205,880 95,561,000 (B) 7,644,880
LEE A LKE 91,918,800 85,110,000 (C) 6,808,800
ERFALEE 92,934,000 (F) 86,050,000 (D) 6,884,000 (E)
HEIRUEE 1,015,200 940,000 75,200
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Z M BERNEREEHE MM LBERITSE No. 1
BHEEL BHETT
vy : e iR
8 B w o= g B B S g EE B e | OERE WE
BEETEE
1| msETr=H = 56,342,685 X 56,710,986 368,301 H4%E
| B THE F2y 6,991,263 = 6,991,263 0
| HEhlEkis T3 = 12,914,965 = 13,034,705 119,740 %R
EiETEE 76,248,913 76,736,954 488,041 H4%E
HimE
I| @k = 2,200,422 = 2,618,748 418,326 H4%H
0| HEms = 7,452,467 X 7,494,813 42,346 |H4%H
R E = 8,615,950 X 8,710,726 94,776 H4%R
FEmEE 18,268,839 18,824,287 555,448 H4%A
&5t 94,517,752 95,561,241 1,043,489 HE%H
ET AR (T Em#S) TH KM E0ET 94,517,000 95,561,000 1,044,000 H4%H
THE P Y5 7,561,360 7,644,880 83,520 H4%H
WwaeEH (ILEE) 102,078,360 103,205,880 1,127,520 H9%H




2 M EERNMNMREEHE M LIENRTISE No. 2

B H m = P T AT B we mm | ew | EOMME 6%
I |[BEIE
la |MLskisTH 2 15,028,999 29 15,028,999 0

b |BREE - e B e 2V 7,068,416 20 7,247,737 179,321 %
le |FEEFFEE - el =k fie =X 10,600,658 =X 10,749,609 148,951 4%
Id |PNEBRHIY) e =X 23,644,612 =X 23,684,641 40,029 HE%E
At 56,342,685 56,710,986 368,301 Hi%E




2% BERNEREE#R N LUEMRTSE No. 3

B H BB | ue wp o mm sw | me wm ap | em | TOEAE W3

la |FMLBETSE

1 |EHERGR T 1 K 570,938 1 K 570,938 0
2 [BEEKETE 1 K 3,453,298 1 K 3,453,298 0
3[Rk E T 1 K 5,253,145 1 K 5,253,145 0
4 |(BELETE 1 K 42,023 1 K 42,023 0
5 |2=yh R OFEOMTH 1 K 4,330,140 IR 4,330,140 0
6 |ftds -y 1 K 1,379,455 1 KX 1,379,455 0

At 15,028,999 15,028,999 0




£ % BEEHINPREEE M LBERIE No. 4
RETEEAT RETEE® N
8 B w o= g B B S g EE B e | OERE WE
Ib [EBRIZE - EEERE
1 |ERE G LE 1 ==K 186,336 1 ==K 186,336 0
2 |NEHETF 1 = 730,257 1 =& 838,917 108,660 H9%H
3 |k TE 1= 362,629 1 = 373,929 11,300 H4%H
4 | FofTHE 1 = 5,490,460 1 ® 5,490,460 0
5 |- 1= 298,734 1=K 358,095 59,361 H4%E
Gt 7,068,416 7,247,737 179,321 H4%E




£ % BEEHINPREEE M LBERIE No. 5
et EEHI REtEHE N
8 B w o= g B B S g EE B e | OERE WE
lc |REHZE - £HERBS
1 (B R T 1 =& 169,155 1 = 169,155 0
2 |NEHETF 1 = 505,581 1 =& 557,981 52,400 |H4%H
3 |[BEgRETHE 1 ==K 295,862 1 =K 295,862 0
4 | FofTHE 1 = 9,282,150 1 ® 9,341,250 59,100 H4%E
5 |- 1= 347,910 1 = 385,361 37,451 H4%E
&EF 10,600,658 10,749,609 148,951 H4%E




£ % BEFHINREEE M LBERIE No. 6
et EEHI REtEHE N
8 B w o= g B B S g EE B e | OERE WE
Id |NERR YIRS
1 |ERE G LE 1 ==K 1,450,650 1 ==K 1,450,650 0
2 |[BEMmETE 1 = 16,978,024 1 =& 16,978,024 0
3 | E T 1 K 1,337,634 1 =K 1,355,592 17,958 4%
4 |[BEXETHE 1 = 591,418 1 =& 598,978 7,560 HA%H
5 |FofTHE 1 = 2,038,740 1 = 2,038,740 0 H%E
6 |HiE- syt 1 = 1,248,146 1 =& 1,262,657 14,511 ¥WHE
&3t 23,644,612 23,684,641 40,029 H4%A




2% BEHNEREERMMLIUERTISE No. 2

# F B OE | e wn o me em | wE wm 8@ pw | EOMME @3
Il |#WEETSE
la L dkis T 1 11,499,160 1 K 11,499,160 0
b |BREE - HE i S e 1 K 687,705 1 K 759,875 72,170 HEE
le  |ZBERL=E - Hfif == k& 1 K 686,650 1 K 734,220 47,570 H%H
Id  [PNEBRE e 1 K 41,450 1K 41,450 0

EHETEE A5 12,914,965 13,034,705 119,740 H8%H




2% BEHNEREERMMLIUERTISE No. 3
RETEEHI RETEE®R a1
# B W = g B B S g B B @ | DOEEER W
la | LBETSE
1 |faEss Bexin L = 5,195,700 = 5,195,700 0
2 |kaKE(E T3 =Y 1,843,300 = 1,843,300 0
3 [HEKER R T = 3,866,070 = 3,866,070 0
4 (AR T 9 =Y 50,090 = 50,090 0
5 |fiETEH =Y 544,000 = 544,000 0
EHETEE A5 11,499,160 11,499,160 0




2% BEHNEREERMMLIUERTISE No. 4
RETEEHI RETEE®R a1
# B W = g B B S g B B @ | DOEEER W
Ib [EBRIZE - EEERE
1 | (R L5 = 199,740 =, 270,710 70,970 | H4%E
2 |HEAKERH T3 = 90,560 = 90,560 0
3 |kalaEis L = 34,400 =, 34,400 0
4 | AR T 5 = 334,805 = 334,805 0
5 |fiETEH =Y 28,200 = 29,400 1,200 HE%H
EHETEE A5 687,705 759,875 72,170 | H4%E




2% BEHNEREERMMLIUERTISE No. 5
RETEEHI RETEE®R a1
# B W = g B B S g B B @ | DOEEER W
lc |RERZE - £EZRE
1 | (R L5 = 277,370 =, 324,140 46,770 | HE%E
2 |HEAKERH T3 =Y 102,190 = 102,190 0
3 |kalaEis L = 68,800 = 68,800 0
4 | H R T = 214,890 = 214,890 0
5 |fiETEH =Y 23,400 = 24,200 800 |HA%H
EHETEE A5 686,650 734,220 47,570 | H9%H




2% BEHNEREERMMLIUERTISE No. 6
RETEEHI RETEE®R a1
# B W = g B B S g B B @ | DOEEER W
Id |REPREEYISIE
1 | (R L5 = 1,790 = 1,790 0
2 |HEAKERH T3 = 2,870 = 2,870 0
3 | AR LE =Y 33,180 = 33,180 0
4 |WETHE =Y 3,610 = 3,610 0
EHETEE A5 41,450 41,450 0




